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Define : (i) Function (if) Continuity 6
IF6(x) = X2 = 3x +5 than find f{— 1), f(1y and (2). : 6
Discuss continuity at x = 2 for 6

i
. 22y
f{x) :——T‘._f)« arx # 2

=32, x=2
OR
Write rules of Limit. 6
Evaluate the following, ' 12
. lim xiy4 .. lim x?*+2x2-8¢ . im x-9¢
(i) X =2 x*p3x41 (ii) - 5x3- 4x (itr) X =9y -3
Define the fotlowing sets 5

(i} Universal set (ii) Equality of two sets (iii} Power set
HU={1.23456}, A={23,6 b, B=1{3,5,6} then Verify that )

(i) (AUBY = A'(1B' (i) (ANB)' =A'U B’

[FA={2.4}, B={24,6) than find (iy A® (i) B 6
OR
Explain rules of determinants, 5
5 7 k 6
It {4 7 31=2, then find the value of k.
2 3 1
Solve the equations by cramer’s rule 2x 7y =9 and Sx +y=6. 6
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Q:03(B)
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Q:03(A)

Q:03(1)

Q:03(C)

Q:04(A)
(3:04(B)

Q:04(A)

Q:04(B)

Define the following Matrices

() Row Matrix (i) Null Matrix (iii) Square Matrix
6 3

IWA=1-3 9 |then find matrix B such that 2T+ 3B = 0
12 -6

IFA = [; ;J and B= [; ;J then Prove that (4B} =p—1 41

OR

If A=

2 -3 -5 -1 3 5
-1 4 5],B= [ 1 ~3 =5} thanProvethat AB=BA =0
L1 =3 -4 -1 3 5 )

-1 1 3

A= [ 3 =2 -—6} than find inverse of A,
-1 1 2

Soive the following equations using inverse matrix .

2x+5y =16, 3x+y-—-1i

What is mean by interpolation and extrapolation ? Write uses of it.

Estimate the value of y for x =20 by using Newton’s Method from the following
data,

—

X 14 8 | 2 | 26 | 30 |
y 30 135 | 42 [ 51 [ 6 |

OR

Fror the following data find missing value by using binomial Expansion method,

. year 1965 1970 1975 1980 1985
Population{in'000) 12 14 18 24 ?

Using langrage’s formula estimate value of y for x =10 forthe following data

X 5 6 9 11
y 12 13 14 16
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